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1,500,000 147 4 21,000
= 10,500
2 10,500
HHS AR (5L 86,451 12,600 73,851
ol 2| 86,451 12,600 73,851
ol 2| 12,600 12,600 0
101 o124l 8,400 8,400 0
02 JIEFR 24 8,400 8,400 0
OBAXA 2 280,0002 128 3,360
©BA%CIAF it 20,0002 122 240
ST YR 400,000 * 128 4,800
203 HRFY| 4,200 4,200 0
04 ENRYAREAY| 4,200 4,200 0
ORN2YAR =AY 350,000% 122 4,200
2 73,851 0 73,851
201 Yer2 Y| 16,611 0 16,611
01 Attt 16,611 0 16,611
oRN2Y I8 4,370
CHEIR=Y] 8,410
O=ADI E87Y 300,0002 18! *1CH 300
OUOIHIRED| SHEH(SH)TY
120, 0002l x23| *4CH 960
OYIOIHIRIE I LeAEH(SR) P
250, 0002 44 At 23] * 1 H 2,000
OFX=ZAI] 22l 300,000 +33l 900
O=AENTY 25,0002 #7500xx23] 3,750
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2N SEMD
M #HSAAY (5SS
ol ol 2oy (S92 e
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Ol & 4 01l & 01 s
OTAID| =2 100, 000& 33| 300
QI =cl 100, 000& 23| 200
O=&Hl 7,000 » 19 x60%*4 A x 128 3,831
202 O4Hl 57,240 0 57,240
01 SUHYI 57,240 0 57,240
OJI=gf=d0tl 200,000 «18H «12& 43,200
O=2UHs=&0HI 65,0003 »18E 122 14,040
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